## AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicabl	e box) RAL CANDIDA	ATE	⊠ STAT	E/LOCAL CAN	NDIDATE
To Ava Windov	ail Themselve w, Federal Ca	s of The Low ndidates Mus	est Unit Chast Sign The	arge During a Certification O	Political n Page 3
Station and	d Location:			Date:	
party for the off in theee	ice of: $SD$	tonse of	Represa	stativa	, a legallypolitical
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
See Assach	æl				

Total Charges: See Arrached

For programming that, in whole or in part, "communicates a message relating to any political matter of national importance," list the matters below:
I represent that the payment for the above described broadcast time has been furnished by:
and you are authorized to announce the time as paid for by such person or entity.  I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.
The name of the treasurer of the candidate's authorized committee is:
Mark Engelhart
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
To Be Signed By Candidate or Authorized Committee
8/27/2020
To Be Signed By Station Representative
Accepted
Knotan Morris Sales Manager

# AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)	\ 1
☐ FEDERAL CANDIDATE	STATE/LOCAL CANDIDATE

To Avail Themselves of The Lowest Unit Charge During a Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and	l Location:			Date:	
party for the officient theelection to be he	of: Denner ate of the Received ST	Public + C	Hou		, a legally political
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
SeeAstack	60(				

Copyright ©2011 by the National Association of Broadcasters. May Not Be Copied, Reproduced or Further Distributed.

Total Charges: See Attached

For programming that, in whole or national importance," list the matte	in part, "communicates a message rers below:	elating to any political matter of
I represent that the payment for the	e above described broadcast time has	s been furnished by:
and you are authorized to announce I represent that this person or entity	the time as paid for by such person is either a legally qualified candida	or entity.
committee/organization of the legal	lly qualified candidate.	te of all authorized
The name of the treasurer of the car	ndidate's authorized committee is:	
	political advertising policies, includ	ing: applicable classes and rates:
and discount, promotional and other	r sales practices (not applicable to fe	ederal candidates).
	SCRIMINATE OR PERMIT DISC HE PLACEMENT OF ADVERTIS	
To Do Signed Du	Condidate an Australia	
8/27/2020 (	Candidate or Authorize	ed Committee
Date	Signature	
To Be Signe	ed By Station Represer	ıtative
Accepted	Accepted in Part	☐ Rejected
Kuo Mulus Signature	Kristan Morris Printed Name	Suls Managu

### **Sales Order**

Stations: KBF	O-FM, KGIM-KSI	DNHD3, KGIM-F	Μ,	Buyer:			
KNBZ-FM,	KSDN-HD2, KSI	DN-AM, KSDN-F	M	Tax Schedule:			(None)
Contract Name:	2020 GENERAL	_ ELECTION -01		Agency Commi	ssion %: 0		
Contract#:			83851234	Billing Cycle:	Calendar		
Start Date:	9/21/20	End Date:	11/03/20	Salesperson:	501961kmorr	Comm %:	0
Revenue Type:	Local Political		Type: Cash	Makegood Poli	cy: Within Contract Dat	es	
Advertiser:	CARL PERRY [	DREW DENNER	RT.				
Address:	2722 RAILROA	D CIRCLE					
City:	ABERDEEN	State: SD Zip:	57401				
Product Name:	2020 GENERAL	L ELECTION					
Comp. Code:	Political						
Sec Comp	Local Candidate	Э					

#### **KBFO-FM**

	DAT	TES	Alt	TIM	MES	LEN				DI	STRI	BUTI	ON			RATE	TO	OTALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	NAIL	SPOTS	\$\$	1.11
1	9/21/20	9/22/20		6:00 AM	7:00 PM	30	5							5	D	13.15	5	65.75	2
2	10/31/20	11/02/20		6:00 AM	7:00 PM	30	5					5		10	D	13.15	10	131.50	2
3	11/03/20	11/03/20		6:00 AM	6:00 PM	30		5						5	D	13.15	5	65.75	2

TOTAL GROSS \$263.00, NET \$263.00

#### KGIM-KSDNHD3

Γ.		ΓES	Alt	· TIM	MES	LEN				DI	STRI	BUTI	ON			RATE	TO	OTALS	PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	INAIL	SPOTS	\$\$	
1	9/21/20	9/22/20		6:00 AM	7:00 PM	30	5							5	D	10.20	5	51.00	2
2	10/31/20	11/02/20		6:00 AM	7:00 PM	30	5	5				5		15	D	10.20	10	102.00	2
3	10/17/20	10/17/20		6:00 AM	7:00 AM	30						5		5	D	11.25	5	56.25	2
4	11/03/20	11/03/20		6:00 AM	6:00 PM	30		5						5	D	10.20	5	51.00	2

TOTAL GROSS \$260.25, NET \$260.25

#### KGIM-FM

Γ.		TES	Alt	TIM	MES	LEN				DI	STR	IBUTI	ON			RATE	TO	OTALS	PTY
N	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	NATE	SPOTS	\$\$	1 1 1
1	9/21/20	9/22/20		6:00 AM	7:00 PM	30	5							5	D	13.15	5	65.75	2
2	10/31/20	11/02/20		6:00 AM	7:00 PM	30	5					5		10	D	13.15	10	131.50	2
3	10/17/20	10/17/20		6:00 AM	7:00 AM	30						5		5	D	13.15	5	65.75	2
4	11/03/20	11/03/20		6:00 AM	6:00 PM	30		5						5	D	13.15	5	65.75	2

TOTAL GROSS \$328.75, NET \$328.75

#### KNBZ-FM

No	DAT	ΓES	Alt	TIM	MES	LEN				DI	STRI	BUT	ION			RATE	TO	DTALS	PTY
INO	START	END	wks	START	END	LEIN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	HAIL	SPOTS	\$\$	PIT
1	9/21/20	9/22/20		6:00 AM	7:00 PM	30		5						5	D	11.70	5	58.50	2
2	10/31/20	11/02/20		6:00 AM	7:00 PM	30	5					5		10	D	11.70	10	117.00	2
3	11/03/20	11/03/20		6:00 AM	6:00 PM	30		5						5	D	11.70	5	58.50	2

TOTAL GROSS \$234.00, NET \$234.00

#### KSDN-HD2

No	DAT	TES	Alt	TIM	IES	LEN				DI	STRI	BUTI	ON			RATE	T	OTALS	PTY
INC	START	END	wks	START	END	LEIN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	NAIL	SPOTS	\$\$	FIT
1	9/21/20	9/22/20		6:00 AM	7:00 PM	30		5						5	D	9.50	5	47.50	2
2	10/31/20	11/02/20		6:00 AM	7:00 PM	30	5	5				5		15	D	9.50	10	95.00	2
3	10/17/20	10/17/20		6:00 AM	7:00 AM	30						5		5	D	9.50	5	47.50	2
4	11/03/20	11/03/20		6:00 AM	6:00 PM	30		5						5	D	9.50	5	47.50	2

TOTAL GROSS \$237.50, NET \$237.50

#### KSDN-AM

No	DAT	ΓES	Alt	TIM	MES	LEN				DI	STRI	BUTI	ON			RATE	TO	OTALS	PTY
INO	START	END	wks	START	END	LEIN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	HAIL	SPOTS	\$\$	FIT
1	9/21/20	9/22/20		6:00 AM	7:00 PM	30		5						5	D	11.25	5	56.25	2
2	10/31/20	11/02/20		6:00 AM	7:00 PM	30	5	5				5		15	D	11.25	10	112.50	2
3	10/17/20	10/17/20		6:00 AM	7:00 AM	30						5		5	D	11.25	5	56.25	2
4	11/03/20	11/03/20		6:00 AM	6:00 PM	30		5					=	5	D	11.25	5	56.25	2

TOTAL GROSS \$281.25, NET \$281.25

#### KSDN-FM

No			Alt	TIM	MES	LEN	DISTRIBUTION									RATE	TOTALS		PTY
	START	END	wks	START	END	LEIN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RAIL	SPOTS	\$\$	PIT
1	9/21/20	9/22/20		6:00 AM	7:00 PM	30		5						5	D	11.25	5	56.25	2
2	10/31/20	11/02/20		6:00 AM	7:00 PM	30	5					5		10	D	11.25	10	112.50	2
3	10/17/20	10/17/20		6:00 AM	7:00 AM	30						5		5	D	11.25	5	56.25	2
4	11/03/20	11/03/20		6:00 AM	6:00 PM	30		5						5	D	11.25	5	56.25	2

TOTAL GROSS \$281.25, NET \$281.25

Billing Projections: By Month

	Sep 20	Oct 20	Nov 20
CA	401.00	683.00	802.00
ST	401.00	282.00	1,203.00

Date: 9/18/20

Print Spot Prices	TOTAL	SPOTS		165
	GROSS	STOTAL \$		1,886.00
	ADJUS'	TED SPOTS	)	165
	ADJUS'	TED TOTAL	\$	1,886.00
	APPRO	VE DECLI	NE	
	$\bigcirc$	$\bigcirc$	General Manager	
	$\bigcirc$	$\bigcirc$	Sales Manager	
	$\bigcirc$	$\bigcirc$	Office Manager	
		$\bigcirc$	Local Sales Manager	